rens anes
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The digit 5 stands for SQ )

The digit 3 stands for 3

The digit 5 is in the __T€NS__place.

The digit 3 isin the _ON€S _ place.

The digit 2 stands for 20 .

tens ones

26

AN

The digit 6 stands for 6

The d[g[t 2 isin the _LENS place.

The digit 6 is in the ones  place.

The digit 4 stands for 40 .

ens ones
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AN

ens ones

o1

AN

ens ones

117

The digit 8 stands for 8 .

The d[g[t 8 isin the ONes place.

The digit 4 is in the tens place.

The digit 6 is in the tens place.
The digit 1 isinthe _ON€S  place.
The digit 6 stands for 6_0
The digit 1 stands for 1
The digit 1 stands for ﬂ
The digit 7 stands for / .
The digit 7 is inthe _ONES  place.
The digit 1 is in the tens place.

)

tens

anes
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tens

ones

O

)

ens
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S R

ens
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ens
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O

The digit 7 stands for _/0_.

The digit &4 stands for L

tens

The digit 7 s in the placz.

The digit 4 is in the _QNeS __placs.

The digit 1 stands for 10 .
The digit 9 stands for 9

The digit 1 is in the tens place.

The digit 9 is in the ones place.

The digit 3 stands for 30 .
The digit 2 stands for 2 .
The digit 3 is in the tens place.

The digit 2 is in the _ONES_ place.

The digit 8 stands for 80 .

The digit 5 stands for S

The digit 8 is in the _t€NS  place.
The digit 5 is inthe _ONES  place.
The digit 5 is in the tens place.
The digit 9 is in the _ONES _ place.

The digit 5 stands for 50 .

The digit 9 stands for _9



